<html>

<head>

<title>7R £ v </title>

<meta charset="utf-8">

<style>

a.btnl {
color: #{ff;
background-color: #eb6100;
display:block;
padding:10px 30px;
width:80px;
text-decoration:none;
text-align:center;

}

a.btn1l:hover {
background: #FFAF75;

a.btn2 {
border-radius:20px

.shadow {
box-shadow: 0 3px 5px rgha(0, 0, 0, .3);

.gd{
background: linear-gradient(to right,#eb6100, #FFC778);

.gd2{
background: linear-gradient(to bottom,#562b7c¢,#748af8,#ff3cac);

.btn3{
width:120px;



height: 120px;
line-height: 120px;
border-radius:50%;
padding: 0;
color: #{ff;
background-color: #eb6100;
display:block;
text-decoration:none;
text-align:center;

¥

</style>

</head>

<body>

<a href="#" class="btn1">+ & v 1</a><br>

<a href="#" class="btnl btn2">+, % v 2</a><br>
<a href="#" class="btn1 shadow">"%k % v 3</a><br>
<a href="#" class="btn1 gd">+K % v 4</a><br>

<a href="#" class="btn3">+k & ~ 5</a><br>
</body>

</html>



